

Generating Some Semiclassical Orthogonal Polynomials*

Mabrouk Sghaier†

Received 9 February 2008

Abstract

By means of the quadratic decomposition, this research confirms that if v is a regular symmetric semiclassical form (linear functional), then the form u defined by the relation $(x - a)xu = -\lambda v$ is also regular and semiclassical form for every complex λ except for a discrete set of numbers depending on a^2 and the even part of v . An example related to the Generalized Gegenbauer form is worked out.

1 Introduction

Let v be a regular form. We define a new form u by the relation $D(x)u = A(x)v$ where $A(x)$ and $D(x)$ are non-zero polynomials. An extensive study of the form u has been carried out by several authors from different sides [2, 5, 6, 7, 9, 12, 14]. In particular, in [9] and for $A(x) = -\lambda \neq 0$ and $D(x) = x^2$, Maroni found necessary and sufficient conditions for u to be regular. Also, an explicit expression for the orthogonal polynomials (O.P.) with respect to u is given. Finally, it was proved that if v is a semiclassical form (see [1, 3]), then u is also a semiclassical form. The following aims to study the form u , fulfilling

$$(x - a)xu = -\lambda v, \quad \lambda \neq 0, \quad (u)_1 = a \neq 0,$$

where v is a regular symmetric form. We prove that the regularity of the new form u depends only on a^2 and the even part of v . The coefficients of the three-term recurrence relation satisfied by the corresponding sequence of O.P., are given explicitly. The stability of the semiclassical families is proved. At last, we apply our results to Generalized Gegenbauer form.

2 Preliminaries and Notations

Let \mathcal{P} be the vector space of polynomials with coefficients in \mathbb{C} and let \mathcal{P}' be its dual. We denote by $\langle u, f \rangle$ the action of $u \in \mathcal{P}'$ on $f \in \mathcal{P}$. In particular, we denote by $(u)_n := \langle u, x^n \rangle, n \geq 0$, the moments of u . For any form u and any polynomial h let $Du = u', hu, \delta_0$, and $(x - c)^{-1}u$ be the forms defined by: $\langle u', f \rangle :=$

*Mathematics Subject Classifications: 42C05, 33C45.

†Institut Supérieur d'Informatique de Medenine, Route El Jourf - km 22.5-4119 Medenine, Tunisia

$-\langle u, f' \rangle, \langle hu, f \rangle := \langle u, hf \rangle, \langle \delta_c, f \rangle := f(c)$, and $\langle (x-c)^{-1}u, f \rangle := \langle u, \theta_c f \rangle$ where $(\theta_c f)(x) = \frac{f(x)-f(c)}{x-c}$, $c \in \mathbb{C}$, $f \in \mathcal{P}$.

Then, it is straightforward to prove that for $f \in \mathcal{P}$ and $u \in \mathcal{P}'$, we have

$$(x-c)^{-1}((x-c)u) = u - (u)_0 \delta_c, \tag{1}$$

$$(fu)' = f'u + fu'. \tag{2}$$

The form v will be called regular if we can associate with it a sequence $\{S_n\}_{n \geq 0}$ ($\deg(S_n) \leq n$) such that

$$\langle v, S_n S_m \rangle = r_n \delta_{n,m}, \quad n, m \geq 0, \quad r_n \neq 0, \quad n \geq 0.$$

Then $\deg(S_n) = n$, $n \geq 0$, and we can always suppose each S_n monic (i.e. $S_n(x) = x^n + \dots$). The sequence $\{S_n\}_{n \geq 0}$ is said to be orthogonal with respect to v . It is a very well known fact that the sequence $\{S_n\}_{n \geq 0}$ satisfies the recurrence relation (see, for instance, the monograph by Chihara [4])

$$\begin{aligned} S_{n+2}(x) &= (x - \xi_{n+1})S_{n+1}(x) - \rho_{n+1}S_n(x), \quad n \geq 0, \\ S_1(x) &= x - \xi_0, \quad S_0(x) = 1, \end{aligned} \tag{3}$$

with $(\xi_n, \rho_{n+1}) \in \mathbb{C} \times \mathbb{C} - \{0\}$, $n \geq 0$, by convention we set $\rho_0 = (v)_0 = 1$.

In this case, let $\{S_n^{(1)}\}_{n \geq 0}$ be the associated sequence of first kind for the sequence $\{S_n\}_{n \geq 0}$ satisfying the three-term recurrence relation

$$\begin{aligned} S_{n+2}^{(1)}(x) &= (x - \xi_{n+2})S_{n+1}^{(1)}(x) - \rho_{n+2}S_n^{(1)}(x), \quad n \geq 0, \\ S_1^{(1)}(x) &= x - \xi_1, \quad S_0^{(1)}(x) = 1, \quad (S_{-1}^{(1)}(x) = 0). \end{aligned} \tag{4}$$

Another important representation of $S_n^{(1)}(x)$ is, (see [4]),

$$S_n^{(1)}(x) := \left\langle v, \frac{S_{n+1}(x) - S_{n+1}(\zeta)}{x - \zeta} \right\rangle, \quad n \geq 0. \tag{5}$$

Also, let $\{S_n(\cdot, \mu)\}_{n \geq 0}$ be the co-recursive polynomials for the sequence $\{S_n\}_{n \geq 0}$ satisfying [4]

$$S_n(x, \mu) = S_n(x) - \mu S_{n-1}^{(1)}(x), \quad n \geq 0. \tag{6}$$

A form v is called symmetric if $(v)_{2n+1} = 0, n \geq 0$. The conditions $(v)_{2n+1} = 0, n \geq 0$ are equivalent to the fact that the corresponding monic orthogonal polynomials sequence (MOPS) $\{S_n\}_{n \geq 0}$ satisfies the recurrence relation (3) with $\xi_n = 0, n \geq 0$ [4].

3 Algebraic Properties

In this paper, unless stated otherwise, the form v will be supposed to be normalized, (i.e: $(v)_0 = 1$), symmetric, and regular and $\{S_n\}_{n \geq 0}$ be the corresponding MOPS. For fixed $a \in \mathbb{C}$ and $\lambda \in \mathbb{C} - \{0\}$, we can define a new normalized form $u \in \mathcal{P}'$ by the relation

$$(x-a)xu = -\lambda v, \quad (u)_1 = a. \tag{7}$$

Equivalently, from (1) we have

$$u = -\lambda(x-a)^{-1}x^{-1}v + \delta_a = -\lambda x^{-1}(x-a)^{-1}v + \delta_a. \quad (8)$$

The case $a = 0$ is treated in [1, 9, 13], so henceforth, we assume $a \neq 0$.

When u is regular, let $\{Z_n\}_{n \geq 0}$ be its corresponding MOPS. It satisfies

$$\begin{aligned} Z_{n+2}(x) &= (x - \beta_{n+1})Z_{n+1}(x) - \gamma_{n+1}Z_n(x), \quad n \geq 0, \\ Z_1(x) &= x - \beta_0, \quad Z_0(x) = 1. \end{aligned} \quad (9)$$

From (7), the sequence $\{Z_n\}_{n \geq 0}$, when it exists, satisfies the following finite-type relation [8, p.301, Proposition 2.1.]

$$\begin{aligned} Z_{n+2}(x) &= S_{n+2}(x) + b_{n+1}S_{n+1}(x) + a_nS_n(x), \quad n \geq 0, \\ Z_1(x) &= S_1(x) + b_0S_0(x), \end{aligned} \quad (10)$$

with $(a_n, b_n) \in (\mathbb{C} - \{0\}) \times \mathbb{C}$. In this condition, the sequence $\{Z_n\}_{n \geq 0}$ is orthogonal with respect to u if and only if

$$\langle u, Z_{n+1} \rangle = 0, \quad \langle u, xZ_{n+2} \rangle = 0, \quad n \geq 0, \quad \langle u, xZ_1 \rangle \neq 0.$$

Consequently $\langle u, xZ_{n+2} \rangle = 0$ and $\langle u, (x-a)Z_{n+2} \rangle = 0$, $n \geq 0$. So, using (5), (8) and (10), we obtain respectively

$$\left(aS_{n+1}(a) - \lambda S_n^{(1)}(a) \right) b_{n+1} + \left(aS_n(a) - \lambda S_{n-1}^{(1)}(a) \right) a_n = \lambda S_{n+1}^{(1)}(a) - aS_{n+2}(a) \quad (11)$$

and

$$S_n^{(1)}(0)b_{n+1} + S_{n-1}^{(1)}(0)a_n = -S_{n+1}^{(1)}(0). \quad (12)$$

The determinant of the system defined by (11)-(12) is

$$\Delta_n = S_{n-1}^{(1)}(0) \left(aS_{n+1}(a) - \lambda S_n^{(1)}(a) \right) - S_n^{(1)}(0) \left(aS_n(a) - \lambda S_{n-1}^{(1)}(a) \right), \quad n \geq 0. \quad (13)$$

Let us recall some general features. Consider the quadratic decomposition of $\{S_n\}_{n \geq 0}$ and $\{S_n^{(1)}\}_{n \geq 0}$ [10]

$$S_{2n}(x) = P_n(x^2), \quad S_{2n+1}(x) = xR_n(x^2), \quad n \geq 0, \quad (14)$$

$$S_{2n}^{(1)}(x) = R_n(x^2, -\rho_1), \quad S_{2n+1}^{(1)}(x) = xP_n^{(1)}(x^2), \quad n \geq 0. \quad (15)$$

The sequences $\{P_n\}_{n \geq 0}$ and $\{R_n\}_{n \geq 0}$ are respectively orthogonal with respect to σv and $x\sigma v$ where σv is the even part of v defined by $\langle \sigma v, f \rangle := \langle v, (\sigma f)(x) \rangle = \langle v, f(x^2) \rangle$. We have for instance:

$$\begin{aligned} P_{n+2}(x) &= (x - \rho_{2n+2} - \rho_{2n+3})P_{n+1}(x) - \rho_{2n+1}\rho_{2n+2}P_n(x), \quad n \geq 0, \\ P_1(x) &= x - \rho_1, \quad P_0(x) = 1 \end{aligned} \quad (16)$$

Using (14)-(15), (13) becomes

$$\Delta_{2n} = -aS_{2n}^{(1)}(0)P_n(a^2, \lambda), \quad \Delta_{2n+1} = -aS_{2n}^{(1)}(0)P_{n+1}(a^2, \lambda), \quad n \geq 0. \quad (17)$$

Taking into account (4), with $\xi_n = 0$, we get $S_{n+2}^{(1)}(0) = -\rho_{n+2}S_n^{(1)}(0)$. Then,

$$S_{2n+2}^{(1)}(0) = (-1)^{n+1} \prod_{\nu=0}^n \rho_{2\nu+2} \neq 0, \quad n \geq 0.$$

Consequently, we easily deduce the following result:

PROPOSITION 1. The form u is regular if and only if $P_n(a^2, \lambda) \neq 0$, $n \geq 0$, where P_n is defined by (14).

REMARKS (1.) When v is symmetric and positive definite, $\lambda \in \mathbb{R} - \{0\}$, then u is regular for every a such that $a^2 \notin \mathbb{R}$. (2.) u is regular if and only if $\lambda \neq \lambda_n, n \geq 0$ where $\lambda_n = \frac{P_n(a^2)}{P_{n-1}^{(1)}(a^2)}$.

When $\Delta_n \neq 0, n \geq 0$, by solving the system (11)-(12), we obtain

$$a_{2n} = -\frac{P_{n+1}(a^2, \lambda)}{P_n(a^2, \lambda)}, \quad a_{2n+1} = \rho_{2n+2}, \quad n \geq 0, \tag{18}$$

$$b_{2n} = -a, \quad b_{2n+1} = 0, \quad n \geq 0. \tag{19}$$

PROPOSITION 2. We may write

$$\gamma_{n+2} = \frac{a_n}{a_{n-1}}\rho_n, \quad n \geq 1, \tag{20}$$

$$\beta_{n+1} = b_n - b_{n+1}, \quad n \geq 0, \tag{21}$$

$$\gamma_{n+2} = \rho_{n+2} - b_{n+1}\beta_{n+2} + a_n - a_{n+1}, \quad n \geq 0, \tag{22}$$

$$b_n\gamma_{n+2} = b_{n+1}\rho_{n+1} - a_n\beta_{n+2}, \quad n \geq 0. \tag{23}$$

PROOF. After multiplication of (10) by x , we apply the recurrence relations (3) and (9) we get

$$\begin{aligned} Z_{n+3} + \beta_{n+2}Z_{n+2} + \gamma_{n+2}Z_{n+1} &= S_{n+3} + \rho_{n+2}S_{n+1} \\ &\quad + b_{n+1}S_{n+2} + b_{n+1}\rho_{n+1}S_n + a_nS_{n+1} + a_n\rho_nS_{n-1}. \end{aligned}$$

Substituting Z_{k+2} in the above equation by $S_{k+2} + b_{k+1}S_{k+1} + a_kS_k$ with $k = n+1, n, n-1$, we obtain (20)-(23), after comparing the coefficients of S_k with $n-1 \leq k \leq n+2$.

COROLLARY 1. We have

$$\begin{cases} \beta_n = (-1)^n a, \\ \gamma_1 = -\lambda, \quad \gamma_{2n+2} = a_{2n}, \quad \gamma_{2n+3} = \frac{\rho_{2n+1}\rho_{2n+2}}{a_{2n}}, \quad n \geq 0. \end{cases} \tag{24}$$

PROOF. Using (20)-(22) and taking (18)-(19) into account, it's quite straightforward to get the expressions of β_n and γ_{n+1} for $n \geq 1$. From $\langle u, Z_k \rangle = 0, 1 \leq k \leq 2$, we obtain $\beta_0 = a$ and $\gamma_1 = -\lambda$, by virtue of (7). Hence (24).

REMARK. Since $a \neq 0$, on account of (24) the form u is not symmetric.

4 The Semiclassical Case

Let us recall that a form v is called semiclassical when it is regular and there exist two polynomials Φ and Ψ such that:

$$(\Phi v)' + \Psi v = 0, \quad \deg(\Psi) \geq 1, \quad \Phi \text{ monic.} \quad (25)$$

The class of the semiclassical form v is $s = \max(\deg \Psi - 1, \deg \Phi - 2)$ if and only if the following condition is satisfied

$$\prod_c (|\Phi'(c) + \Psi(c)| + |\langle u, \theta_c \Psi + \theta_c^2 \Phi \rangle|) > 0, \quad (26)$$

where c goes over the roots set of Φ [11].

In the sequel the form v will be supposed symmetric and semiclassical of class s satisfying (25). From (7), and (25), it is clear that the form u , when it is regular, it is also semiclassical and satisfies

$$(\tilde{\Phi} u)' + \tilde{\Psi} u = 0 \quad (27)$$

with

$$\tilde{\Phi}(x) = x(x-a)\Phi(x), \quad \tilde{\Psi}(x) = x(x-a)\Psi(x). \quad (28)$$

The class \tilde{s} of u is at most $s+2$.

PROPOSITION 3. The class of u depends only on the zeros $x=0$ and $x=a$.

PROOF. Let c be a root of $\tilde{\Phi}$ such that $c \in \mathbb{C} - \{0, a\}$, then $\Phi(c) = 0$. If $\Phi'(c) + \Psi(c) \neq 0$, using (28) we have $\tilde{\Phi}'(c) + \tilde{\Psi}(c) = c(c-a)(\Phi'(c) + \Psi(c)) \neq 0$. If $\Phi'(c) + \Psi(c) = 0$, we have $c(c-a)(\Phi'(c) + \Psi(c)) = x(x-a)(\Phi'(c) + \Psi(c)) = 0$, which leads to $\theta_c^2 \tilde{\Phi} + \theta_c \tilde{\Psi} = x(x-a)(\theta_c^2 \Phi + \theta_c \Psi)$. Then, using (7) and the above result, we get $\langle u, \theta_c^2 \tilde{\Phi} + \theta_c \tilde{\Psi} \rangle = -\lambda \langle v, \theta_c^2 \Phi + \theta_c \Psi \rangle \neq 0$ according to (26). In any case, we cannot simplify by $x-c$.

THEOREM 1. Let v be a semiclassical form of class s , satisfying (25), $c \in \{0, a\}$, $X_1(c) = |\Phi(c)| + |-\lambda \langle v, \theta_c \Psi + \theta_c^2 \Phi \rangle + \Phi(c) + c(\Phi'(c) + \Psi(c))|$, and

$$X_2(c) = |2\Phi'(c) + \Psi(c)| + |-\lambda \langle v, \theta_c^2 \Psi + \theta_c^3 \Phi \rangle + 2\Phi'(c) + \Psi(c) + c(2\Phi''(c) + \Psi'(c))|.$$

For every $a, \lambda \in \mathbb{C} - \{0\}$ such that $P_n(a^2, \lambda) \neq 0, n \geq 0$, the form u defined by (7) is regular and semiclassical of class \tilde{s} satisfying (27)-(28). Moreover,

- 1) If $X_1(a)X_1(0) \neq 0$ then $\tilde{s} = s+2$,
- 2) If $X_1(0) \neq 0, X_1(a) = 0$ and $X_2(a) \neq 0$ or $X_1(a) \neq 0, X_1(0) = 0$ and $X_2(0) \neq 0$ then $\tilde{s} = s+1$,
- 3) If $X_1(a)X_1(0) = 0$ and $X_2(a)X_2(0) \neq 0$ then $\tilde{s} = s$.

PROOF. From (28), we have $\tilde{\Phi}'(a) + \tilde{\Psi}(a) = a\Phi(a)$ and $\tilde{\Phi}'(0) + \tilde{\Psi}(0) = -a\Phi(0)$. Using (8), we get $\langle u, \theta_a \tilde{\Psi} + \theta_a^2 \tilde{\Phi} \rangle = -\lambda \langle v, \theta_a \Psi + \theta_a^2 \Phi \rangle + \Phi(a) + a(\tilde{\Phi}'(a) + \tilde{\Psi}(a))$ and $\langle u, \theta_0 \tilde{\Psi} + \theta_0^2 \tilde{\Phi} \rangle = -\lambda \langle v, \theta_0 \Psi + \theta_0^2 \Phi \rangle + \Phi(0)$. Hence $X_1(c), c \in \{a, 0\}$.

- 1) If $X_1(a)X_1(0) \neq 0$, then it is not possible to simplify according to the standard criterion (26), which means that the class of u is $\tilde{s} = s+2$.

2) If $X_1(0) \neq 0$ and $X_1(a) = 0$, then it is only possible to simplify by $x - a$. Then, u fulfils (27) with

$$\tilde{\Phi}(x) = x\Phi(x), \quad \tilde{\Psi}(x) = x(\theta_a\Phi(x) + \Psi(x)). \quad (29)$$

Here, we have $\tilde{\Phi}'(a) + \tilde{\Psi}(a) = a(2\Phi'(a) + \Psi(a))$. Using (8) and the definition of the operator θ_a , we obtain

$$\langle u, \theta_a\tilde{\Psi} + \theta_a^2\tilde{\Phi} \rangle = -\lambda \langle v, \theta_a^2\Psi + \theta_a^3\Phi \rangle + 2\Phi'(a) + \Psi(a) + a(2\Phi'(a) + \Psi'(a)).$$

Since $a \neq 0$, if $X_2(a) \neq 0$, then it is not possible to simplify, which means that the class of u is $\tilde{s} = s + 1$. Using the same proceeding, we easily prove that, if $X_1(a) \neq 0$, $X_1(0) = 0$ and $X_2(0) \neq 0$, then u fulfils (27) with

$$\tilde{\Phi}(x) = (x - a)\Phi(x), \quad \tilde{\Psi}(x) = (x - a)(\theta_0\Phi(x) + \Psi(x)). \quad (30)$$

and, $\tilde{s} = s + 1$.

3) If $X_1(a)X_1(0) = 0$, we can simplify (27)-(28) by $x(x - a)$. We obtain

$$\tilde{\Phi}(x) = \Phi(x), \quad \tilde{\Psi}(x) = \theta_0\Phi(x) + \theta_a\Phi(x) + \Psi(x). \quad (31)$$

Then, $\tilde{s} = s$ if $X_2(a)X_2(0) \neq 0$.

Finally, if we suppose that the form v has the following integral representation:

$$\langle v, f \rangle = \int_{-\infty}^{+\infty} V(x)f(x)dx, \quad f \in \mathcal{P}, \quad \text{with} \quad (v)_0 = \int_{-\infty}^{+\infty} V(x)dx = 1$$

where V is a locally integrable function with rapid decay and continuous at the origin and the point $x = a$. Then, from (8) and after some straightforward computations, we prove that, the form u is represented by

$$\begin{aligned} \langle u, f \rangle &= f(a) \left\{ 1 + \frac{\lambda}{a}P \int_{-\infty}^{+\infty} \frac{V(x)}{x - a} dx \right\} - \\ &\quad - \frac{\lambda}{a}P \int_{-\infty}^{+\infty} \frac{V(x)}{x - a} f(x) dx + \frac{\lambda}{a}P \int_{-\infty}^{+\infty} \frac{V(x)}{x} f(x) dx, \end{aligned} \quad (32)$$

where for $c \in \{0, a\}$

$$P \int_{-\infty}^{+\infty} \frac{V(x)}{x - c} f(x) dx = \lim_{\epsilon \rightarrow 0} \left\{ \int_{-\infty}^{c-\epsilon} \frac{V(x)}{x - c} f(x) dx + \int_{c+\epsilon}^{+\infty} \frac{V(x)}{x - c} f(x) dx \right\}.$$

5 Application

Theorem 1 shows that we can generate new semiclassical sequences from well known ones. We apply our results to $v := GG$, where GG is the Generalized Gegenbauer form. In this case, the form v is symmetric semiclassical of class $s = 1$. Thus, we have [4]

$$\begin{cases} \rho_{2n+1} = \frac{(n+\beta+1)(n+\alpha+\beta+1)}{(2n+\alpha+\beta+1)(2n+\alpha+\beta+2)}, \\ \rho_{2n+2} = \frac{(n+1)(n+\alpha+1)}{(2n+\alpha+\beta+2)(2n+\alpha+\beta+3)}, \quad n \geq 0. \end{cases} \quad (33)$$

The regularity conditions are $\alpha \neq -n$, $\beta \neq -n$, $\alpha + \beta \neq -n$, $n \geq 1$. We also have

$$\Phi(x) = x(x^2 - 1), \quad \Psi(x) = -2(\alpha + \beta + 2)x^2 + 2(\beta + 1). \quad (34)$$

For greater convenience we take $a = 1$, and $\alpha \neq 0$. From (16) and (33), we can easily obtain by induction

$$P_n(1) = S_{2n}(1) = \frac{\Gamma(n + \alpha + 1)\Gamma(n + \alpha + \beta + 1)}{\Gamma(\alpha + 1)\Gamma(2n + \alpha + \beta + 1)}, n \geq 0. \quad (35)$$

From (16) and (4), we get the recurrence relation satisfied by $\{P_n^{(1)}\}_{n \geq 0}$. Using this relation and (33), we deduce by induction

$$P_n^{(1)}(1) = \frac{-(\alpha + \beta + 1)}{\alpha\Gamma(2n + \alpha + \beta + 3)} \left(\frac{\Gamma(\alpha + \beta + 1)\Gamma(n + 2)\Gamma(n + \beta + 2)}{\Gamma(\beta + 1)} - \frac{\Gamma(n + \alpha + 2)\Gamma(n + \alpha + \beta + 2)}{\Gamma(\alpha + 1)} \right), n \geq 0. \quad (36)$$

From (6) and (35)-(36), we get

$$P_n(1, \lambda) = \frac{(\alpha + \beta + 1)\Gamma(n + \alpha + 1)\Gamma(n + \alpha + \beta + 1)}{\alpha\Gamma(\alpha + 1)\Gamma(2n + \alpha + \beta + 1)} d_n, n \geq 0, \quad (37)$$

with

$$d_n = \lambda \frac{\Gamma(\alpha + 1)\Gamma(\alpha + \beta + 1)\Gamma(n + 1)\Gamma(n + \beta + 1)}{\Gamma(\beta + 1)\Gamma(n + \alpha + 1)\Gamma(n + \alpha + \beta + 1)} + \frac{\alpha}{\alpha + \beta + 1} - \lambda. \quad (38)$$

Then, u is regular for every $\lambda \neq 0$ such that

$$\lambda^{-1} - \frac{\alpha + \beta + 1}{\alpha} \neq \frac{\Gamma(\alpha + 1)\Gamma(\alpha + \beta + 2)\Gamma(n + 1)\Gamma(n + \beta + 1)}{\alpha\Gamma(\beta + 1)\Gamma(n + \alpha + 1)\Gamma(n + \alpha + \beta + 1)}, n \geq 0.$$

Now, we give the coefficients of the recurrence relation satisfied by $\{Z_n\}_{n \geq 0}$. For this, first we calculate the coefficients a_n and b_n , $n \geq 0$ given by (18)-(19).

$$\begin{cases} a_{2n} = -\frac{(n+1)(n+\alpha+1)d_{n+1}}{(2n+\alpha+\beta+1)(2n+\alpha+\beta+2)d_n}, & a_{2n+1} = \rho_{2n+2}, \\ b_{2n} = -1, & b_{2n+1} = 0, \quad n \geq 0. \end{cases} \quad (39)$$

Using the above results and (24), we obtain

$$\begin{cases} \gamma_{2n+2} = a_{2n}, & \gamma_{2n+3} = -\frac{(n+1)(n+\beta+1)d_n}{(2n+\alpha+\beta+2)(2n+\alpha+\beta+3)d_{n+1}}, \\ \beta_n = (-1)^n, & \gamma_1 = -\lambda, \quad n \geq 0. \end{cases} \quad (40)$$

Since v is semiclassical, then according to Theorem 1. the form u is also semiclassical. It satisfies (27) with

$$\tilde{\Phi}(x) = x(x-1)^2(x+1), \quad \tilde{\Psi}(x) = x(x-1)(-2(\alpha + \beta + 2)x^2 + 2(\beta + 1)). \quad (41)$$

After some calculations and taking account of (34), we obtain $X_1(0) = 0$, $X_1(1) = 2 | \lambda(\alpha + \beta + 1) - \alpha |$, $X_2(0) = 2 | \beta | + 2 | -\lambda(\alpha + \beta + 1) + \beta |$ and $X_2(1) = 2 | \alpha | + 4 | \alpha + \beta - 1 |$ (we take $\lambda = \frac{\alpha}{\alpha + \beta + 1}$ in calculation of $X_2(1)$). Now, it is enough to use Theorem 1. in order to obtain the following results:

- ★ If $\lambda \neq \frac{\alpha}{\alpha + \beta + 1}$, then the class of u is $\tilde{s} = 2$.
- ★ If $\lambda = \frac{\alpha}{\alpha + \beta + 1}$, then the class of u is $\tilde{s} = 1$.

The form v has the following integral representation [4 p.156], for $\Re\alpha > -1$, $\Re\beta > -1$, $f \in \mathcal{P}$,

$$\langle v, f \rangle = \frac{\Gamma(\alpha + \beta + 2)}{\Gamma(\alpha + 1)\Gamma(\beta + 1)} \int_{-1}^1 |x|^{2\beta+1} (1 - x^2)^\alpha f(x) dx. \quad (42)$$

Therefore, for $\Re\beta > -\frac{1}{2}$, $\Re\alpha > 0$, $f \in \mathcal{P}$, (32) becomes

$$\begin{aligned} \langle u, f \rangle &= \left(1 - \frac{\lambda(\alpha + \beta + 1)}{\alpha} \right) f(1) \\ &+ \frac{\lambda\Gamma(\alpha + \beta + 2)}{\Gamma(\alpha + 1)\Gamma(\beta + 1)} \int_{-1}^1 \operatorname{sgn}(x) |x|^{2\beta} (1 + x)^\alpha (1 - x)^{\alpha-1} f(x) dx. \end{aligned}$$

Acknowledgment. Thanks are due to the referee for his helpful suggestions and comments on my work and for the reference brought to my notice.

References

- [1] J. Alaya and P. Maroni, Semiclassical and Laguerre-Hahn forms defined by pseudo-functions, *Methods Appl. Anal.*, 3(1)(1996), 12–30.
- [2] M. Alfaro, F. Marcellan, A. PeÑa, and M. L. Rezola, On linearly related orthogonal polynomials and their functionals, *J. Math. Anal. Appl.*, 287(2003), 307–319.
- [3] D. Beghdadi and P. Maroni, On the inverse problem of the product of a form by a polynomial, *J. Comput. Appl. Math.*, 88(1997), 401–417.
- [4] T. S. Chihara, *An Introduction to Orthogonal Polynomials*, Gordon and Breach, New York, 1978.
- [5] A. Ghressi and L. Khérijji, Orthogonal q-polynomials related to perturbed linear form, *Appl. Math. E-Notes*, 7(2007), 111–120.
- [6] J. H. Lee and K. H. Kwon, Division problem of moment functionals, *Rocky Mount. J. Math.*, 32(2)(2002), 739–758.
- [7] P. Maroni, I. Nicolau, On the inverse problem of the product of a form by a polynomial: The cubic case, *Appl. Numer. Math.*, 45(2003), 419–451.
- [8] P. Maroni, Semiclassical character and finite-type relations between polynomial sequences. *Appl. Num. Math.*, 31(1999), 295–330.
- [9] P. Maroni, On a regular form defined by a pseudo-function. *Numer. Algo.*, 11(1996), 243–254.

- [10] P. Maroni, Sur la décomposition quadratique d'une suite de polynômes orthogonaux, I, *Rivista di Mat. Pura ed Appl.*, 6(1991), 19–53.
- [11] P. Maroni, Une théorie algébrique des polynômes orthogonaux. Application aux polynômes orthogonaux semi-classiques, in: *Orthogonal Polynomials and their applications*, (C. Brezinski et al Editors.) IMACS, Ann. Comput. Appl. Math. 9 (Baltzer, Basel, 1991), 95–130.
- [12] P. Maroni, Sur la suite de polynômes orthogonaux associée à la forme $u = \delta_c + \lambda(x - c)^{-1}L$, *Period. Math. Hung.*, 21(3)(1990), 223–248.
- [13] M. Sghaier and J. Alaya, Building some symmetric Laguerre-Hahn functionals of class two at most, through the sum of a symmetric functionals as pseudofunctions with a Dirac measure at origin, *Int. J. Math. Math. Sci.*, 2006, Art. ID 70835, 19 pp.
- [14] M. Sghaier and J. Alaya, Orthogonal polynomials associated with some modifications of a linear form, *Methods Appl. Anal.*, 11(2)(2004), 267–294.